

COUNTY OF LOS ANGELES

DEPARTMENT OF PUBLIC WORKS

"To Enrich Lives Through Effective and Caring Service"

900 SOUTH FREMONT AVENUE ALHAMBRA, CALIFORNIA 91803-1331 Telephone: (626) 458-5100 http://dpw.lacounty.gov

ADDRESS ALL CORRESPONDENCE TO: P.O. BOX 1460 ALHAMBRA, CALIFORNIA 91802-1460

IN REPLY PLEASE
REFER TO FILE: AE-3

April 11, 2016

INVITATION FOR BIDS – INFORMATIONAL UPDATE 1 STREET SWEEPING SERVICES FOR THE AREA OF MARINA DEL REY, ET AL., ROAD DISTRICTS 233 AND 433 (2016-PA009)

Please take note that the deadline to submit your bids is **Monday, April 18, 2016, at 5:30 p.m.**

All addenda and informational updates will be posted at http://dpw.lacounty.gov/aed/contracts. Please check the website frequently for any changes to this solicitation.

The following answer is in response to the request for information and questions submitted by Proposers for the Street Sweeping Services for the Area of Marina Del Rey, et al., Road Districts 233 and 433 (2016-PA009). Questions presented in this Informational Update represent the questions asked by the Proposers in the form and context submitted.

CLARIFICATIONS

1. Question: Who is the current contractor and what are the contracted prices?

Response: The current Contractor for this project is CleanStreet, Inc., for current contract prices please see enclosed Form PW-2, Schedule of Prices (Enclosure A).

If you have questions concerning the above information, please contact Ms. Andres Campaz at (626) 458-4072, acampaz@dpw.lacounty.gov, Monday through Thursday, 7 a.m. to 5 p.m.

Follow-us on Twitter:

We encourage you to follow-us on Twitter @LACoBuildings and @LAPublicWorks for information on Public Works and instant updates on contracting opportunities and solicitations.

Very truly yours,

GAIL FARBER

Director of Public Works

JOSE M. QUEVEDO

Assistant Deputy Director

Architectural Engineering Division

AC

FORM PW-2.5

SCHEDULE OF PRICES FOR STREET SWEEPING SERVICES IN MARINA DEL REY ET. AL., RD 233 AND 433 (2011-PA002)

The undersigned Proposer offers to perform the work described in the Request for Proposals (RFP) for the following price(s). The Proposer rate(s) (hourly, monthly, etc.) shall include all administrative costs, labor, supervision, materials, transportation, taxes, equipment, and supplies unless stated otherwise in the RFP. It is understood and agreed that where quantities, if any, are set forth in the Schedule of Prices, they are only estimates, and the unit prices quoted, if any, will apply to the actual quantities, whatever they may be.

quantii	ties, whatever they may be.	UNIT	ANNUAL QUANTITY	UNIT PRICE	ANNUAL PRICE
ITEM	DESCRIPTION The surpose of surpo	CURB MILES	1,664	\$ 24.00	\$ _{39,936.00}
1.	Weekly and twice weekly sweeping of curbed streets (1) for the Department of Public Works.	(CM) ²	·	\$ 04.00	\$ 4.248.00
2.	Weekly sweeping of paved alleys for the Department of	PAVED ALLEY MILES (PM) ³	52	\$ 24.00	1,248.00
	Public Works. Twice weekly sweeping of curbed streets for the	CURB MILES (CM)	988	\$ 24.00	\$23,712.00
3.	Department of Beaches and Harbors. Twice Weekly sweeping of paved alleys for the Department	PAVED ALLEY	52	\$ 35.00	\$ 1,820.00
4.	of Beaches and Harbors.	MILES (PM)		_	
- 5.	Twice Weekly sweeping of public Parking Lots(4)1 to 12, 14, 16, 18, and 19 for the Department of Beaches and Harbors.	1 SWEEPING OF SPECIFIED LOTS	104	\$ 375.00	\$39,000.00
6.	Four times per week sweeping of public Parking Lots 13, 15, and 17 for the Department of Beaches and Harbors.	1 SWEEPING OF SPECIFIED LOTS	208	\$ 72.50	\$15,080.00
7.	Sweeping of public Parking Lot 20 for the Department of	1 SWEEPING OF SPECIFIED LOT	222	\$ 67.00	\$ 14,874.0
	week of September to Memorial Day Westernam Sweeping of public Parking Lot 20 for the Department of	1 SWEEPING OF SPECIFIED	105	\$ 75.0	0 \$ 7,875.0
8.	Day weekend through first week of September.	TOTAL ANNUAL PROPOSED PRICE			E \$ 143,545.0

- Sweeping curbed streets and alleys includes sweeping of curbed and painted medians, the furnishing of water, and the proper disposal of all debris resulting from sweeping operations.
- A Curb Mile (CM) is defined as a swept path not less than 10 feet wide for a total length of 5,280 feet.
 Both gutter brooms must be down for this definition to apply.
- A Paved Alley Mile (PM) shall equal a swept path not less than 20 feet wide for a total length of 5,280 feet.
- Sweeping parking lots includes sweeping of curbed medians, the furnishing of water, and the proper disposal of all debris resulting from sweeping operations.

LEGAL NAME OF PROPOSER						
CleanStreet ~	\wedge					
SIGNATURE OF PERSON AUTHORIZED TO SUI	SMIT PROPESAL					
1/2	(was					
TITLE OF AUTHORIZED PERSON						
The state of the second						
DATE	SIAIECONINGIONE					
March 3, 2011	N/A					
PROPOSER'S ADORESS:						
	FACSIMILE	E-MAIL				
PHONE	(310) 538-8015	 				
(800) 225-7316 x103	(010) 000					